

zkontroluj: 20)

1/2

$$y = -\frac{\arcsin x}{x} + \ln (1 - \sqrt{1-x^2})^u$$

$$= \ln \frac{1 - \sqrt{1-x^2}}{x} - \frac{\arcsin x}{x}$$

$$y' = \frac{1}{\frac{1 - \sqrt{1-x^2}}{x}} \cdot \frac{[0 + \frac{1}{2\sqrt{1-x^2}} \cdot (-2x)]x - (1 - \sqrt{1-x^2}) \cdot 1}{x^2} -$$

$$- \frac{\frac{1}{\sqrt{1-x^2}} \cdot x - \arcsin x \cdot 1}{x^2} =$$

$$= \frac{x}{1 - \sqrt{1-x^2}} \cdot \frac{\frac{x^2}{\sqrt{1-x^2}} - 1 + \sqrt{1-x^2}}{x^2} - \frac{\frac{x}{\sqrt{1-x^2}} - \arcsin x}{x^2} =$$

$$= \frac{1}{1 - \sqrt{1-x^2}} \cdot \left(\frac{\frac{x^2}{\sqrt{1-x^2}}}{x} - \frac{1}{x} + \frac{\sqrt{1-x^2}}{x} \right) - \frac{\frac{x}{\sqrt{1-x^2}}}{x^2} - \frac{\arcsin x}{x^2} =$$

$$= \frac{1}{1 - \sqrt{1-x^2}} \cdot \left(\frac{x}{\sqrt{1-x^2}} - \frac{1}{x} + \frac{\sqrt{1-x^2}}{x} \right) - \frac{1}{x\sqrt{1-x^2}} - \frac{\arcsin x}{x^2} =$$

$$= \frac{x}{\sqrt{1-x^2}(1 - \sqrt{1-x^2})} - \frac{1}{x(1 - \sqrt{1-x^2})} + \frac{\sqrt{1-x^2}}{x(1 - \sqrt{1-x^2})} - \frac{1}{x\sqrt{1-x^2}} - \frac{\arcsin x}{x^2} =$$

$$= \frac{x}{\sqrt{1-x^2}(1 - \sqrt{1-x^2})} + \frac{\sqrt{1-x^2} - 1}{x(1 - \sqrt{1-x^2})} - \frac{x - x\sqrt{1-x^2} \cdot \arcsin x}{x^2\sqrt{1-x^2}} =$$

1/2

2/2

$$= \frac{X \cdot X (1 - \sqrt{1-x^2}) + (\sqrt{1-x^2} - 1) \cdot \sqrt{1-x^2} \cdot (1 - \sqrt{1-x^2})}{\sqrt{1-x^2} \cdot (1 - \sqrt{1-x^2}) \cdot X (1 - \sqrt{1-x^2})}$$

$$= \frac{X (1 - \sqrt{1-x^2}) \cdot \arcsin x}{X^2 \sqrt{1-x^2}} =$$

$$= \frac{(1 - \sqrt{1-x^2}) \cdot [X^2 + (\sqrt{1-x^2} - 1) \sqrt{1-x^2}]}{\sqrt{1-x^2} \cdot X (1 - \sqrt{1-x^2})^2} - \frac{1 - \sqrt{1-x^2} \cdot \arcsin x}{X \sqrt{1-x^2}} =$$

$$= \frac{X^2 + \sqrt{1-x^2} \cdot (\sqrt{1-x^2} - 1)}{X \sqrt{1-x^2} \cdot (1 - \sqrt{1-x^2})} - \frac{1 - \sqrt{1-x^2} \cdot \arcsin x}{X \sqrt{1-x^2}} =$$

$$= \frac{X^2 + (1-x^2) - \sqrt{1-x^2} - [(1 - \sqrt{1-x^2}) \cdot \arcsin x] \cdot (1 - \sqrt{1-x^2})}{X \sqrt{1-x^2} \cdot (1 - \sqrt{1-x^2})} =$$

$$= \frac{X^2 + 1 - X^2 - \sqrt{1-x^2} - [1 - \sqrt{1-x^2} - \sqrt{1-x^2} \cdot \arcsin x + (1-x^2) \arcsin x]}{X \sqrt{1-x^2} \cdot (1 - \sqrt{1-x^2})}$$

$$= \frac{1 - \sqrt{1-x^2} - 1 + \sqrt{1-x^2} + \sqrt{1-x^2} \cdot \arcsin x - (1-x^2) \arcsin x}{X \sqrt{1-x^2} \cdot (1 - \sqrt{1-x^2})} =$$

$$= \frac{\sqrt{1-x^2} \cdot \arcsin x - \arcsin x + X^2 \cdot \arcsin x}{X (\sqrt{1-x^2} - (1-x^2))} =$$

$$= \frac{\arcsin x (\sqrt{1-x^2} - 1 + x^2)}{X (\sqrt{1-x^2} - 1 + x^2)} = \frac{\arcsin x}{X}$$

2/2